PLUS

Model CR-5-T
Stand Assembly Instructions

22-3602-08C

[Step 2: Assembling the stand

/\ WARNING

stand could tip over, resulting in injury.

@ Be sure to install and assemble as described in these instructions. Incorrect installation or assembly could lead to injury.
® Mounting and removal of the CR-5 unit should be performed by at least two persons.
@ Be sure to lock the stand's caster stoppers when assembling. Unlock the caster stoppers when moving the stand, or the

® Assemble on a flat surface covered with a piece of cloth, etc., so as not to scratch the product.
@ Fasten the various parts using the specified screws.

The CR-5 unit can be mounted horizontally (horizontal installation) or
vertically (vertical installation) on the dedicated CR-5 stand. Install in the

desired direction according to the purpose.

Note that parts included with the CR-5 unit are also used for assembly. U

Prepare these parts as well.

Parts included in the stand package

o Feet (with casters) .....coccvveviieiiii e, 2
e Feetcaps ............ 4
e \/ertical frames .... 2
O FramE CAPS woevvvveeeeiiiiiee et 2
e Feet Washers ..o, 2
* M8 x 50 mm hexagonal socket screws ........ 4
© SPriNg WaShErsS ......covvvieeiiiiieeiiiiee e 4
e Flat washers (8.5 mm bore diameter) ......... 4
e Transverse pipes for horizontal installation

(1136 mmin length) ..oooovvviiii, 2
e Transverse pipes for vertical installation

(687 mmiinlength) .....ccooevvviiiiiiiiieei, 2
* M5 x 40 mm hexagonal socket screws ...... 10
0 Cap NUES (M) 1. 2
e Flat washers (5.5 mm bore diameter) ....... 18
e Sheet NULS ..o, 5
e Upper brackets (left and right) .........cccccceveee 2
e | ower brackets for horizontal installation ...... 2

| E—
e | ower brackets for vertical installation .......... 2
* USB extension cable
(used when installed vertically) ............cc.c..... 1
* USB connector bracket = 2
(used when installed vertically) ............ccc....... 1 Horizontal installation
© MB X 4 MM SCrEWS .vvvveeeiiiieeeiiieeeeaiiineaenes 4
© M3 X 8 MM SCrEWS ...ovvveveveeeeeeeereee, 2 =
* M5 x 8 mm hexagonal socket screws ........ 10
e Hexagonal wrench (M8) ........cccoovvivivicnncnnn. 1 § A
e Hexagonal wrench (M5) ...........cocceeeeeoeenene, 1 I I
0 Cable CliPS wvvviviiiieeiiiie e 5
Parts included with the CR-5
e Pen tray (with pen tray cover and
WO M4 X 6 MM SCrEWS) ...vvvvviiiieeeeeeeeeieiiiins 1 —
e Adapter holder (with two Velcro and two M4
SCIBWS) wvvveeiirieeeesiiieeeeseiie e e e satre e e iaee e s 1
* Depending on the direction of installation, some of

the parts may not be used. =
* Velcro is a registered trademark of Velcro Industries.

v

Vertical installation

Assembly for Horizontal Installation

® Flow of assembly and installation

e N N N R
Step 1 Step 2 Step 3 Step 4
Mounting parts Assembling Mounting the Fastening the
on the copyboard the stand copyboard on power cord
the stand to the stand
A J J J AN J
—
[Step 1: Mounting parts on the copyboard ] = Main unit
(1) Mount the sheet nuts (two on the right, two on the left) in the rail groove. i A
@ Attach M3 x 4 screws to the four sheet nuts. Be sure they do not stick out beyond the = I8 Sheet nut
thickness of the sheets. g % g g insertion slot
Used when mounting
\./\.,\./\/ at a height of 1450 mm B
@ Insert the sheet nuts into the shest nut insertion slots in the rail groove, two on the left, \C: R
two on the right. 0 Used when mounting
® Slide the nuts to their mounting position (see the diagram at the right), and tighten the at a height of 1700 mm
screws with the screw heads inserted into the round cut. The diagram below is for when
mounting at a height of 1450 mm. )
Selecting the stand mount height (1] S
The positions of the four round cuts i 1450mm mm
the rail groove are the sheet nut mount
. . positions.
Sheet nut insertion slot When mounting at a height of 1450 mm: . stand
Mount the sheet nuts to sheet nut mount
Rail positions (A) and (C).
all groove  \\hen mounting at a height of 1700 mm:
Mount the sheet nuts to sheet nut mount
Sheet nut positions (B) and (D).
Round cut
a D
O )

M3 screw

(2) Mount the brackets to the sheet nuts (left and right).
@ Securely fasten the upper bracket to the upper sheet nuts using two
M5 x 8 hexagonal socket screws and flat washers (25.5 mm bore

diameter).

@ Temporarily fasten the lower bracket for horizontal installation to o
the screw hole in the lower sheet nut using one M5 x 8 hexagonal
socket screw and flat washer (25.5 mm bore diameter).

(3) Mount the pen tray to the bottom of the copyboard.

@ Upper bracket

Flat washers
(25.5 mm bore,
diameter)

Lower bracket for
horizontal installation

M5 x 8 hexagonal

socket screw
Hexagonal wrench (M5)

@ Temporarily fasten the pen tray in place (at 2 points) using the
included M4 x 6 screws. (Do not let the screws pass through the

board.)

@ Insert the pen tray's rail into the rail groove at the bottom of the

copyboard.

® Now lift the pen tray to catch it on the copyboard, then tighten the

screws to fasten the pen tray in place.

Rail

@ @ T
Rail groove in bot-
tom of copyboard L
H JT
e ..... :(D
Pen tray rail

Rail groove in bottom of copyboard

(4) Mount the adapter holder.
The adapter holder is for stowing the AC power
adapter.

@ Temporarily fasten the adapter holder in place (at
2 points) using the included M4 x 6 screws. (Do
not let the screws pass through the board.)

@ Insert the adapter holder's rail into the pen tray's

rail groove.

® Now lift the adapter holder to catch it on the
pen tray, then tighten the screws to fasten the

adapter holder in place.
* The position in which the adapter holder is

mounted can be changed to the left side of the
rail groove on the bottom of the copyboard.

M4 x 6 screws (2 points)

Rail groove in
pen tray

@ @

Adapter holder

; ;ﬂ

M4 x 6 screw

(1) Mount the vertical pipes to the feet pipes (two).

@ Use the feet washers, flat washers (@8.5 mm bore
diameter), spring washers, M8 x 50 mm hexagonal socket
screws and the included hexagonal wrench (M8) to
securely fasten the vertical pipes and feet pipes.

@ Insert the vertical pipe caps into the vertical pipes.

®) Insert the feet pipe caps into the feet pipes (front and
back).

@-\\— Vertical pipe cap

Vertical pipe

e \When mounting is finished, push the stoppers of the four casters
to the lock side to lock the caster. If the casters are not locked,
the stand will be unstable during assembly, and this could lead

to injury.

Locking/unlocking the caster stoppers
Press the bottom of the caster
stopper to lock the caster. Press

the top to unlock.
Unlock
Lock ﬂ \

Caster stopper

Flat washer
(28.5 mm bore diameter)

Spring washer

M8 x 50 mm hexagonal
socket screw

Hexagonal wrench

(M8)

(2) Mount the two transverse pipes to the vertical

pipes.

Use the two long pipes (1136 mm) as the transverse pipes.

@ Use the flat washers (5.5 mm bore diameter), M5 x 40
mm hexagonal socket screws and the included hexagonal
wrench (M5) to temporarily fasten the transverse pipes to
the vertical pipes.

@ Once the four screws have been temporarily fastened,
fasten them all securely.

Feet pipe cap

Transverse pipes for
horizontal installation

[Step 3: Mounting the copyboard on the stand

* Check again that the caster stoppers are locked.

Flat washer
(25.5 mm bore diameter)
@
Ng M5 x 40 mm p
Q\%/ hexagonal
BN socket screw ||
Hexagonal
wrench (M5)
Transverse pipes for
horizontal installation —
®
®
=

@ Catch the upper brackets (left and right) on the back surface of the copyboard to the front side of the

stand (the side on which the feet pipes are longer).

(@ Loosen the M3 screws of the lower sheet nuts, then tighten the screws, lining them up with the

positions of the holes in the vertical pipes (left and right).

® Mount the lower brackets for horizontal installation to the stand using the M5 x 40 hexagonal socket
screws, flat washers (@5.5 mm bore diameter) and M8 cap nuts (left and right).

\w

Short

\v |
S §.

@ M5 x 40 hexagonal socket
I screw
& /
Hexagonal 6 (,
wrench (M5) N
Flat washers ‘ R
(5.5 mm bore Cap nuts
diameter) (MS)
Lower bracket for
horizontal instaIIaEion

~J |

| Sheet nut
I — MS3 screw

[Step 4: Fastening the power cord to the stand

* Refer to the Copyboard CR-5 User's Manual for instructions on
connecting the copyboard and AC power adapter.
Five (5) cable clips are included. Use them to conceal the cord
behind the copyboard.

@ Peel off the backing of the cable
clips and attach them in the
desired positions.

Backing

&

@ Place the power cord through
the cable clips.

® Push down the clip section to
lock the clip.

This completes installation of the stand.
Check again that the copyboard is securely mounted
on the stand and that the various screws are securely
tightened.

~

AC power adapter
(included with copyboard)

AC power cord
DC plug

(included with copyboard)

i

* This diagram shows an example for when the wall outlet
is on the right side. Use the same procedure to attach the
cable clips and secure the power cord when the wall outlet

is on the left side or elsewhere.

(ﬁ)\‘v\\



' Assembly for Vertical Installation

® Flow of assembly and installation

Va

Step 1

4 4

Step 2

Step 3

Step 4

Mounting parts Assembling Mounting the Mounting the USB
on the copyboard the stand copyboard on extension cable
the stand

Step 1: Mounting parts on the copyboard

(1) Mount the sheet nuts (two on the right, three on the left) in the rail groove.
@ Attach M3 x 4 screws to the four sheet nuts. Be sure they do not stick out beyond the
thickness of the sheets.

* Do not attach a screw to one of the sheet nuts.

on the right.

When doing this, for the left side start by inserting first the sheet nut to which no screw is
attached. This sheet nut is used to fasten the USB connector bracket (position adjustable).
* The left and right sides referred to here are as seen when looking at the copyboard from the 1840mm

front.

® Slide the sheet nuts with screws to their mounting positions in the rail groove and tighten the
screws with the screw heads inserted into the round cut. The mounting height is fixed to 1840

mm.

* The positions of the round cuts in the rail groove are the positions for mounting the sheet

nuts to mount the copyboard.

Top
(control panel side)

Lower mount position
N
s .

heet nut insertion slot,

Sheet nut

M3 screw

Round cut

S

@ Insert the sheet nuts into the sheet nut insertion slots in the rail groove, three on the left, two

Mounting position
for sheet nut with no
screw (as desired)

(2) Mount the brackets to the sheet nuts (left and right).
(@ Securely fasten the upper bracket to the upper sheet nuts using two
M5 x 8 hexagonal socket screws and flat washers (©5.5 mm bore

diameter).

(@ Temporarily fasten the lower bracket for vertical installation to the
screw hole in the lower sheet nut using one M5 x 8 hexagonal

socket screw and flat washer (©5.5 mm bore diameter).

(3) Mount the pen tray to the bottom of the copyboard.
@ Temporarily fasten the pen tray in place (at 2 points) using the

Flat washers
(25.5 mm bore

diameter) r b
/ Lower bracket
for vertical
MS5 x 8 hexagonal installation

included M4 x 6 screws. (Do not let the screws pass through the

board.)

@ Insert the pen tray's rail into the rail groove at the bottom of the

copyboard.

® Now lift the pen tray to catch it on the copyboard, then tighten the
screws to fasten the pen tray in place.

@ Upper bracket

Step 5

Fastening the
power cord
to the stand

Mount the USB
connector bracket
within this range
(as desired).

D

Upper mount position

Lower mount position

<— Sheet nut insertion slot

hi

— Stand

Top
(control panel side)

socket screw

Hexagonal wrench (M5)

@

tom of

M4 x 6 screw

Rail groove in bot-

copyboard

(4) Mount the adapter holder.
The adapter holder is for stowing the AC power

adapter.

@ Temporarily fasten the adapter holder in place (at
2 points) using the included M4 x 6 screws. (Do
not let the screws pass through the board.)

@ Insert the adapter holder's rail into the pen tray's

rail groove.

® Now lift the adapter holder to catch it on the
pen tray, then tighten the screws to fasten the

adapter holder in place.

[Step 2: Assembling the stand

(1) Mount the vertical pipes to the feet pipes (two).
@ Use the feet washers, flat washers (@8.5 mm bore

diameter), spring washers, M8 x 50 mm hexagonal socket

screws and the included hexagonal wrench (M8) to
securely fasten the vertical pipes and feet pipes.
@ Insert the vertical pipe caps into the vertical pipes.
®) Insert the feet pipe caps into the feet pipes (front and

back).

¢ \When mounting is finished, push the stoppers of the four casters
to the lock side to lock the caster. If the casters are not locked,
the stand will be unstable during assembly, and this could lead

to injury.

&> Vertical pipe cap

e

Vertical pipe

M4 x 6 screw

Rail groove in
pen tray

Adapter holder
rail

J

\ ;

Flat washer
(28.5 mm bore diameter)

Spring washer

socket screw

M8 x 50 mm hexagonal

Hexagonal wrench
(M8)

s

the top to unlock.

Locking/unlocking the caster stoppers
Press the bottom of the caster
stopper to lock the caster. Press

Unlock

Lock ﬂ

\

Caster stopper

Feet pipe cap

(2) Mount the two transverse pipes to the vertical
pipes.
Use the two short pipes (687 mm) as the transverse pipes.
@ Use the flat washers (@5.5 mm bore diameter), M5 x 40
mm hexagonal socket screws and the included hexagonal
wrench (M5) to temporarily fasten the transverse pipes to

the vertical pipes. A
(@ Once the four screws have been temporarily fastened, g
fasten them all securely. Flat washer ) L
5\ (ﬂ5 5 mm bore diameter)
N M5 x 40 mm
‘\L\% hexagonal
socket screw
Hexagonal
wrench (M5)

Step 3: Mounting the copyboard on the stand .
* Check again that the caster stoppers are locked. *
(@ Catch the upper brackets (left and right) on the back surface of the copyboard to the =

front surface of the stand (the side on which the feet pipes are longer).
(® Loosen the M3 screws of the lower sheet nuts, then tighten the screws, lining them up
with the positions of the holes in the vertical pipes (left and right).
® Mount the lower brackets for vertical installation to the stand using the M5 x 40
hexagonal socket screws, flat washers (@5.5 mm bore diameter) and M8 cap nuts (left
and right).
&
AN
il
e M5 x 40 hexagonal ‘
@ *|f socket screw :J |
( Hexagonal y qn i
wrench (M5) 6 5 /\‘6\
A 3 0
1 flat washers
& (#5.5 mm bore Cﬁ% nuts
diameter) ( | ) 10° a
ol Lower bracket for 5o
vertical installation
' . 1 ‘ 00
) —
el
® & & . 1 IR
—il |
@ |_~Sheet nut
Q{/ |- M3 screw
. G o5
oV
0
Front surface a D
e To install at an angle, mount the
screws to the 5° or 10° holes.

Long

@ Insert the USB extension cable's USB connector into
the USB port on the copyboard.

(@ Attach the USB extension cable's USB connector (port
side) to the USB connector bracket using two M3
Screws.

Put the USB cable into the rail groove in the copyboard.
® Slide the sheet nut to the position for attaching the USB
connector bracket (as desired), then fasten the USB
connector bracket using two M5 x 8 hexagonal socket

screws and flat washers (5.5 mm bore diameter).

USB cable

PN

NS

USB connector

USB connector
bracket

T

USB connector

/

Step 5: Fastening the power cord to the stand

* Refer to the Copyboard CR-5 User's Manual for instructions on
connecting the copyboard and AC power adapter.
Five (5) cable clips are included. Use them to conceal the cord
behind the copyboard.

Backing

@ Peel off the backing of the cable clips and attach them in
the desired positions.

(@ Place the power cord through the cable clips.
When cable clips have been attached to the top of the
copyboard, also pass the USB cable through them.

® Push down the clip section to lock the clip.

* This diagram shows an example for when the wall outlet
is on the right side. Use the same procedure to attach the
cable clips and secure the power cord when the wall outlet
is on the left side or elsewhere.

USB connector

Flat washers
(5.5 mm bre /
diameter). ‘ Sheet nut
/ ll
M5 x 8
hexagonal &
socket screw
\/
® ®
O
Hexagonal
wrench (M5)
# /1
USB connector
DC plug
a -

This completes installation of the stand.

screws are securely tightened.

factory.

copyboard, and select "Vertical" at "Position" under "Hardwal

Check again that the copyboard is securely mounted on the stand and that the various

@ Set the copyboard's software for vertical installation.
The software is set for horizontal installation upon shipment from the

Refer to the PLUS TOOLBOX software manual included with the

AC power adapter
(included with copyboard)

AC power cord

(included with copyboard)

re Setup".





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


